(1]
e
3 ¥ 0
POWERED BY " £ 5 B
g Su ¢B &7
l I ; 3 wt E s G
. 74" MAX. O.A. FRAME WIDTH 1 Y §§ £ea 3
s o
DOOR COMPONENTS MADE IN THE USA Y 5 5 §§ %%
% [
T 5 gR> 2o
s Q%2 . F
4 £mgy Ok
[ ' ; 5 g8 .©
¢ 502 Bu
O Fiberglass D L L
fia
i 2 [
paque ripoergiass voor : "
o | : SO
O
"NON-IMPACT" g Z 8
= o
INSWING / OUTSWING = 58 | i
2 S l 55
[ 7.9
z 5 | W
B o =
r = g%
il ==
= 3 g |y B
= % 2 |3 g
[yl u... = = ‘JQs
<' < f Ie = - %()J LUU)
d o ) ,JLU
sz | X ° X | "k
< g 8 ol &4
= & e -
P~
EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ DR "85 1 o g g >
The Fiberglass Door system described herein complies with the 2018 Intemational
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building | | L
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following 8
conditions: o 2
1. Anchors shall be as listed and spaced as shown in the details. Anchor S 5 "
embedment to base material shall be beyond wall dressing or stucco. @|H Z
2. When used in areas requiring wind-borne debris protection this product is ©|E 7
required to be protected with an impact resistant covering that complies RIF &l
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. o § o=
3. Allowable design pressure requirements must be equal fo or less than the wh
design pressure rating shown in the design pressure chart, sheet 1 of this ’g: g
4. drawing. gl
Conditions not covered by this drawing are subject to further engineering NES
analysis. NN Lt
TABLE OF CONTENTS NG
SHEET# | DESCRIPTION N g
1 Typicat elevations, design pressures & general notes XX INSWING +45.0 -45.0 +40.0 -40.0 Py
2 | Astragal details (Ulfimate Mulfipoint) 11/02/16
3 | Astragal details (Ultimate Huricane) XX OUTSWING +45.0 -45.0 +50.0 -50.0 Ak N.T.S.
4 | Door panel details DWG. BY: JK
5 Horizontal & vertical cross sections CHK. BY: LFS
é Verfical cross sections DRAWING NO.:
7 Frame anchoring TX—4650
sHEer _ 1 oF _7

" ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DBN\C - Drawings\TX-4647.50.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSENDO aNIang ‘m'y 9102 ()]

SNOISIAZY
ZS8L1L—d # NOILVHISIORY 40 3UVOLILLNID - i
SYIINIONI ﬁ<zo_mmm.._omm 40 Quvos Svxal (NIQ—LITNW ALYNILTN) A8 divd [ONJw©} N
elotserre ron suons SUVL3A VIVHLSY ] ONILSAL M3IN_¥0d 3ivadn|gl/zo/oi 1 | B m 3.
: : o ©
GBSEE 14 OOMIDA 0SZ X°8 ‘O'd \S@W ATEWISSY ¥0 Livd ['Sy7| 3000 odl/08l 8102 OL 31vadn|iz/tL/LL] ¢ 8|z PR
*ONI “‘SINVLINSNOD ONIaHNg s, ap M v_A 2_
1. Zz -
£ZLHOL# ‘3'd SVXIL VaNana g m s|x|2 m
‘T'd IPRUYDS 4 UOpUA :Ag peJodeld sjuswinooq :10NaoxNd SI81E|51% 5
WOLLOg "
« ~
18
([ <
IR i3]
O
| = -~
ilie < o—i
le:| < 3
B EERRTC S L
| . TE 5
= 59
& in Q
s 3 .
1B o [a) _ WBL1 _
@ I _
b < [ _ 5
! & =
M ) O
A L) 3
; ) 5
} (-1 O
S & Y S|
M Q s o)
e & ] k7
il - i S <
g o
iG] 3 L
i ™~
e
, .: (Y]
Il 0 B “
s g2 g 892
e o < O
o Q v
O O
| - T}
= Q
Hi o [7%]
w @] %
H v W
W oz A
i ] m o
O x
Z
Il <
- "
| — w m’.w
| & £ & &
| ™~ ~ o L
! = 1 il o m
O > (@)
11k = 5 o £ <
11N > S & = 5
i} ..m A m X
28z &
S O 2
dOl @ 3 3 3
) — % o
2 E T
o | 3z
%) W 9
M o Q
o = 2
- v, o
NP o
=0 9 *
L0 W o
=< Q Z wuv
o= r = —d
SE $ O
S = g @)
\ 2 8 <
O
N = % I~
L I o &
% o — L A
v x o = £ —
. \\) N ™ o m —~
/7 i e ) = ; _ <
l\ \ .Y “l...l Yy T M LIGU % w
A - % s
£ S 2
: _ y ; =
< Q 3 3 LLI
1 o] & r —
3 og = <
o <0 2 =
z 57 5 =
nm ] < -
@
o
5 ' £\

BMpP'05 2 yoy-XL\sBuimesq - D\(ga1) enbedo o4 oidiseld 158-HQ - IQL\SUI O e sexa] - G\LNINVNYId BINPUINSIUSIDNZ



"ONG BANVLTINSNGOD GNIGTHNE MM 9102 @

ZS8Li—d # NOLVMHISIORY 40 ILVOLIILNID SNOISIAZY i
SHIINIONI TYNOISSIJ0Md 40 QNVO8 SVXIL STVIIA TVOVALSY A8 divd _TONjof | 1., o 7_
L616°659°'CL8 FON UOUd S41 ONILS3IL M3N ¥0d4 3LVadN{8L/z0/0L] | |~ 0 S| R,
: : N ©
G6EEE 14 OOMIDA OSZ X08 ‘0'd \S@% AENISSY 0 [vd | S47| 3000 Owi/08i 8102 OL 31vadn|iz/ti/i] | S| 598
“ONI ‘SINVIINSNOD ONIQINg N np 2 L 3_
hindl B Z b~
£ZIYOL# "I'd SVXIL VANan3 gl m glxlF B
A'd IPIMYOS ‘4 uOpUAT) Ag pesndesd sjuawunsog :10NaoNd m an w = %
[X%)
M
[a%4
> Y
o
= &
2 5
QW T
s 0%
agw <z <
[
Qa
L]
]
WOLLOg Q
o
- - Qa
o
3l x
| O
3
H 2
g 2 g
22
! Z nA.no
| , g o M o
i " 20— | SE -
Z " — 22 B
Q Z =
< Q : 4
ol ) = ™ 71
| - <C ~9 Z
2t S Q — os Q prd
=z ot O [T} E o ) = <
: o b4 - Z|Z < o) 0]
il o w =|O e <
| A | B Ol o
| O o | L TN} e <
| I o2 = - () =
O = Q= in =
| Z . _ el o~ (7] W
m < WG0 =
s A =
& O =2
i z = <
1 E 3
&2 &
U Lit
a
2 =
g =
¥ O
- dilf = 1
s in 7
= 3h ™ —
i " <
- 41 O
2l / » M\ <C
il o
bt | ha g M.O 9
il &2 3 <
4 ..} o W o)
=
dOl =0 S9°T
H o O —
- 3#* O <
= )
W <
= E =
iy 3 o
vy > — S
59 <
@ W m LLi
ii] W g prd
-4 & <
3 O
S w o
I —
[ o (274
£2 S 2 =)
w9 5o L
- Qa —
= w o o <C
@© x5
mw 0 & =
i
-
== .

BMPOS Lyar-X L\sBumerq - J\(ga’T) enbedo 94 oudiseld 158-¥Q - 1QL\su 30 3daq sexa) - S\LNINVINYId BINPUINSIUSIDNZ




Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DB)\C - Drawings\TX-4647.50.dwg

0.7" —= ——

04— ==

EXTERIOR

oy
1/

TILE (LVL
CAP (PVC) STILE (LVL)

m HORIZONTAL CROSS SECTION

INTERIOR

1/

NCY

35.75" MAX.
PANEL WIDTH

>

I=

P

95.25" MAX. PANEL HEIGHT

‘ DOOR PANEL
Plastpro
Fiberglass

DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

g

(1.6" X 0.135)

~— 0.4"
, - ?
/ ,,x\ 1
STEEL RENFORCEMENT  LATCHSTIE(Lv)  CAP (PVC)

5.
ASF
£
Xs
TOP RAIL 2
[COMP) ~_ s 2
ST
. L .- &
N v .
Lo 4
e e
© oy ,PP
FIBERGLASS S
DOOR SKIN R e
/2
/4
INTERIOR EXTERIOR
. /7 =
I / AEE
A
‘- -A ; ‘
T - .'x N .‘
FOAMCORE || ...-:" 7
\ PR 2 '4_"
4‘4 a
o v 4. )
.4‘. ‘-. s . .
. 4
SRR |
lc:d ‘ ‘ :
BOTTOMRA!L/.“Z it
({COMP.)
- 1.75" —=]

.,f?@z !Z 7
. * Y
WX

12

sa0e

7“2\ VERTICAL CROSS SECTION

&/

2

0N

o

53 &

Ex & d

.

0w UM o

w® ERN
.ge

@

5 ’Qo"! 3

2 Zoa §

£ L0 =

3 Jg50 @
5 ]
w>!’l E
Zow &

5 8R.

) i o
o0 %Xz

il 0O L.
b4

3 Zmg O

g 345 ¢

[ 5Q¢ %

£ moo 3

3

f~4 EE :

o

E g

3 a;

[+

]

o

[%5]
=
e
s -2
coy  wed
=T b T
S 1B £
& ol &5
g 5°
- o
| xl &
(&
8 O
S kE
& &
s
] ] 22
Lt
Q
o)
3]
o
g2z
NI
4 |
ol 2
99§ %)
(e
QT =
gl |
_IR
QI
oo
DD
hagd L8]
Nl
SN\
-8l
™
N
_lo
R i -
oaTE: 11,/02/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4650

SHEET _4 oF _7_

CERTIFICATE OF REGISTRATION # F-11852

© 2016 R.W. BUILDING GONSULTANTE ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK,DBNC - Drawings\TX-4647.50.dwg

—_ 2X FRAMING
{ [ (G >=0.42)

EXT. SHEATHING \ = / DRYWALL

' | #10x25 PR
~1 'WoOD SCREW
{l 7| woopsc

1/4" MAX.

SHMSPACE — —~_fililf

0.15"
C'SINK
(TYP.)

ui

DOOR PANEL —\
k HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR W INTERIOR

7“3\ VERTICAL CROSS SECTION

w Outswing shown - inswing
also approved

1/4" MAX.

0.15"
SHIM SPACE ~ CSINK
EXT. SHEATHING 7 ‘] (TYP.)

= = #10 X 2.5" PFH WOOD SCREW
—

gt e

2X FRAMING

(G>=0.42) ‘\

-~ JAMB
ENDURA WEATHERSTRIP

(QEBD 650)
EXTERIOR

DRYWALL / / ) INTERIOR
#8 X 2.5" PFH WOOD SCREW \‘ #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4" HINGE

/ 1"\ HORIZONTAL CROSS SECTION
w Inswing shown - Quiswing also approved

WEATHERSTRIP

A

#8 X 3" PFH WS
#8 X 1"PFH WS

m HORIZONTAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

L DEADBOLT: KWIKSET SIGNATURE SERIES
(980/985)

- LATCH: KWIKSET SIGNATURE SERIES
(991)

CORNER PADS (TYP.)

ULTIMATE HURRICANE ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL

/ DOOR PANEL

A\

&/

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

=
Qtn
=
r=
Wwo
< 5
ot .y S
S b 7
S 13 £,
& ol 59
< 2O
CE
=
S £
o o
A 4 P
~i|3jm
L
o
o
O
)
2|z
S o
o 2
:'9§ %)
o
ST I
gl I
L2
i)
il
aja
1)
gt L]
O
NN
— gg
™\
SI9°
-2
oatE: 11/02/16
ScALlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4650

SHEET 5 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4647.50.dwg

\\

INTERIOR

\\

EXTERIOR INTERIOR /X EXTERIOR

DOOR PANEL
e DOOR PANEL

ENDURA

DOOR SWEEP ENDURA \
(DBK-R) DOOR SWEEP
(DBK-ZAC) ,

/ 4100000

I,

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

N

/" 2"\ VERTICAL CROSS SECTION

\U Inswing Adjustable Threshold

\5_/ Inswing Articuiating Threshold
w/ Pin Caplure

A

| 456 ] | ]

ENDURA
WEATHERSTRIP
(QEBD/PE 650)

VOO

DOOR PANEL

INTERIOR | | EXTERIOR

ENDURA

1/

EY

112.}
iy

i
Ex

WEATHERSTRIP
(QEBD/PE 650)

INTERIOR K EXTERIO

OO T
—\?«
<& QF.T

Q

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.658.9197

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR TW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION

\U Outswing Bump Threshold

4.56"

1 INSWING ADJUSTABLE THRESHOLD

LAIL4565

ZAI4565FN
MAX. DESIGN PRESSURE = +40 PSF

4.56" 1

6 INSWING ARTICULATING THRESHOLD

4.56"

ZACL4565

IAC4565FN

2 INSWING ADJUSTABLE THRESHOLD 3

4.56"

INSWING ADJUSTABLE THRESHOLD

ZAILAA4565

S |
- 454" |
4 INSWING ADJUSTABLE THRESHOLD

ZAIAA4565FN

MAX. DESIGN PRESSURE = £40 PSF

4.56" !

INSWING ARTICULATING THRESHOLD

7 INSWING ARTICULATING THRESHOLD 8

LACLAA4565

INSWING ARTICULATING THRESHOLD

w Qutswing Bump Threshold

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FL. 33595

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

4.56"
INSWING ADJUSTABLE THRESHOLD

ZAI4565RDS

MAX. DESIGN PRESSURE = +40 PSF

i

IACAA4565FN

MAX. DESIGN PRESSURE = +40 PSF

MAX. DESIGN PRESSURE = 40 PSF

MAX. DESIGN PRESSURE = £40 PSF

MAX. DESIGN PRESSURE = +40 PSF

r' 1.49" —

o) |
= &
=
]; 4.56" ! l 456"
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD
ZOBL4565 ZOB4565FN

~— 1.49" ]

L2

L‘——_ 4.5¢"

10 INSWING ARTICULATING THRESHOLD

IACA4565RDS

MAX. DESIGN PRESSURE = +35 PSF

-

G A

|

| 456" . |

4.56"

13 OUTSWING THRESHOLD
IOB4565RDS

FOB4566

14 OUTSWING THRESHOLD

»
=
Q
S
(e}
7))
<
o 5]
3 oy D
a o
= o &
] = O
a =
92
£ o
9 S| &
=
2 =
2 %
[+ 0.
Al [ e
ng
¥R ]
[
<)
S
o
gz
QR
SI8l |n
Di- 2
°F @
[w]
Q| &
|z
IR
izl
alg
ala
3|5
10
~ -
AN
AN
~lo
R A 2
paTE: 11/02/16
scae: - N,T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4650

SHEET 6 OF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



3 ul
C§> " % 2X FRAMING {BY OTHERS) ) nl. g
& S e & %‘5 0 gu")
EO O " (‘:" x:,:-.‘. ; Y i
3 T 8 M 2 _f (Tép ) 2%\7{;" ot éu o E §:I
s (TYP.) & : Astragal Strike Plate i K Lt % 05 Gu
+ — ]—*- {TYP)) * @ Head Jamb %ué 55 E "5 g:
] 1 SEEHINGE A | oo ioi 7 Er £z 0f
/ 1 1 1 3} . tht > dg© 0E
| e I N — o) o e B
" #10X 2.5" PFH DETAIL | - 7 X i e 5 88 &g
- "~ [
Ao -£ | S B
. = 3] . €
AND JAMBS) #10X 2.5" PFH WS 8 342 gp
. o o]
. | 3 11— :
3 @ \|| i DETAIL 1 5 § &
® N § @§ 6
8
[s]
= » - #8 X 2-1/2" PFH WS
% 7
FR- SEE HINGE | ' . é:' e ©
DETAIL 2 #BXT'PFHWS <o 1|l ™~ 48 3/4" PFH WS S
B | P — 47X 4" HINGE = 2
\ 2 |32
W th g <
s | Y
! i DETAL20R3 | ., HINGE DETAIL 1 g 2
2R * N < &
J : .
- - 8 [
Q =
% P #8 X 2-1/2" PFH WS olol
#10 X 2.5" PFH WOOD SCREW T e ]
4" (TYP.) . 1/4" X 2-3/4" DeWALT OR " é-f' 1o~ "
HINGE JAMB — 4"(TYP) TW CONCRETE SCREW #EX1"PFHWS &8 | SIFSEe way 374" PFH WS S
RINGE JAMB (TYP @ SILL) — 4" X 4" HINGE ole
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A')‘(’XCHOR'NG \ g2
CONCRETE (MIN. 3000 PS}) Sl [
WOOD (G >= 0.42 N ) olz| 2
( ) *NOTE: This additional anchor required for D.P. > 40 PSF. HINGE DETAIL 2 2 § 7]
R
olo| [
= I
==
CONCRETE ANCHOR NOTES: "y 024" 3|3
1. Ceggc;rsz g:é:g?g Ir%%ﬂ(i;?;ig:s the corners may be adjusted to maintain the min. 3N X234 ITWO%ONCRETE SCREW ASTRAGAL PIN CAPTURE 515
: z MP NS
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 3" PEH WOOD SCREW COMPONENT (UNDER CAP) §§ Ll
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE ., {Qg
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL 1/2° DIA. HOLE (IN CAP) g )
3. Concrete anchor table: \ =2
t =z
ANCHOR |~ MIN. . | ¥ = = 93Y z = EA = i = oaTE: 11,/02/16
EMEEDMENT | SME N.T.S.
Imw o 3/14" 1-3/4" DWG. BY: JK
TAPCON 1/4" 1-3/4" 1-1/2" 4" 1/2" DIA. HOLE DETAIL 2 DETAIL 2 DETAIL 3 cHK. BY:  LFS
DeWALT et T T —_— DRAWING NO.:
uLTRACONS| 14" 1-3/4" " & Outswing Inswing Inswing TX-4650
SHEET 7 OF _7_

* ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DBN\C - Drawings\TX-4647.50.dwg

@ 2016 R.W. BUILDING DONSULTANTS INC.



